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/Ll :
. 7 Wunmmg i possible on account © |
it (A} Newton's First Law of Motion {B) Newton 8 Semnd G@w "
{C) Newton's Third Law of Mation (D) Newton s Law of tation .

1 ’ of Delhi are mﬂniﬁg" Bngon s o

2 Nﬂwadays, to reduce air polhxuon, the buses of Del :

| (A) Liquified Petroleum Gas {LPG) () Compressed Natural Gas (cuc:;
© Lomprmwd Lead Gas (C‘L(:) (D) Hish Speed md Eree D:esel

‘3. Who d.\dn t participate in the revolt of 1857 7
{A) Ram Lakshmibat i (B) Bhagat Smgh 5
{C) Nana Saheb b (D) Tantya Tope

4, Blood pressure of a healthy personis:
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SECTION - 1
ENGLISH

L. Swimnung is possible on account of - :
Newlon's Second Law of Motion:

(A}l Newton's First Law of Mation  (B) _
{C) Newton's Third Law of Motion (D) Newton's Law of Gravifation

Nowadays, to reduce air pollution, the buses of Delhi are running on :
(A) Liquified Petroleum Gas (LI'G)  (B) Compressed Natural Gas (CN_G)

(C) Compressed Lead Gas (CLG) (D) High Speed Lead free Dwsel

3. Who didn't participate in the revolt of 1857 7
{A) Rani Lakshmibai - (B) Bhagat Singh
(C) Nana Saheb (D) Tantya Tope

4. ?lmdprfssmdaheal&tyma; S ET IS W
{A) ©0/80 (B 200110 (© 120/80 (D} MOje0

5 m'cmwmmwmcm-md;
{A) mmlpntndm;
(B}‘ m:tmlumt,pthln
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IL  In semi~conductor terminology, the Doping is a pmcess of b
- {A) Punfying semiconductor material 2
{B) Increasing impunty percentage
{C) Removal of foreign atoms
=, (D) Increasing the bias potential

12. Who is the present Chief Minister of Gujarat ? :
{A) Anandiben Patel (B) Keshubhai Patel
(C) Amit Shah (D) None of the above =

13. In a capacitor, the electric charge is stored in ;

(A) metal plates (B) dielectric :

(C) both (A) and (B) (D) monhem._
14. m::mxgﬁguremmeqmn leg-n-}-h:
6 15 18
@) 6 o
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V. DPT is used to prevent - TR

32.  The heating element of electric heater is ﬁmde fmm
(AY Copper (B) Nichrome (C) Ck

33. Comparative scale is a pair of scale having a commonis

(A) unit < e
(C) length of scale g)) mm

¥

34 The eleventh purt of 990 x g Wi

@ 990 ® s
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43.

44.

18
Mm trarster by raduuon mainly depends upon: : i o ‘
YA} ity temperature () natureof the body -

{7} kind and extent of its surface (D} all of the above

Nat:on.al Securities Depository limited (NSDL) deals mth

(A) Bearer Bonds (B) GDRs
(C) Shares in electronic format (D) None of the above

An ideal diode can be considered as an ! YR -
{A) Amplifier (B) Bistable switch (C) Oscillator (D) Fuse :

A perfect gas at 27°C is heated at constant pressure il its volume is doubled Thtihﬁl

temperature is : v gt
(A) 34°C B 327°C {C) 108°C (D) 554(:..,_,_._..

Carbon brushes are used in DC electnic motors 10
{A) prevent sparking duning comnmutation S :
(B) provide a path for flow of current s Lo e N
{C¥ m—&mmmmmm ' .
(DY mdﬂ:abwc
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5. A sener diode

A} hasa hxgh forward voltage rating
- {B} has a sharp break-down at low reverse voltage : Sl SR
{C) 15 useful as an amplifier _ S R

{Dj has negative resistance

52,

tA) filled in 12 tinutes ted 1

53. An ordinary transformer works of :
(A) AC : B DC
(C} Both AC and DC. ()

54. wma&ummgsmamum
- {A) Combustion of fuel ‘

© Oxxdauav’ﬂwtt\gdm

’Si thmwhwmwiy :
* the medal duning Asian Games 2014 7
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of “Sardaz” toVaﬁahhbiuu f’atd ?
; B Mahatma Gmdh‘l e
(D) Dr Rajendra Prasad e

& ,H’hﬂ waw l#w h!k*
(ot 4 e ol Knmgap.ﬂ(uhar\
(€} Tawahar Lal Nehn

ered most suitable for the apphcation in :

(C) Traction (D) ﬂm:r«tmlls

-'ﬂ'; B¢ Series molurﬂ are consad
(A) Fans (B) Water Pumps

g berty fed s oo
62,  The prog of a material by wtuch it can be rolled into sheets Ls ca ,
g (B) Plasticity () Ductility (D) Malhab\hty

{A) Elasticity
By selling a towel for T 12690, a draper loses 8%. For how much thould he l!eﬂ !he towel to

gmn:t%? :
(A) T130 B} tIﬁMO

© Tus05 . (D) Hw

S

64.  Stanlese steed resists corrosion due to Y 2
. {A) Carbon {8 sﬂp&m €} Vanadium (D)

65. "‘Wlsmdtmﬁwwd
{A} Low valued restance

{B) Medium valued ressstance
..(C') vabvdmdnmm’

http://ajourneywithtime.weebly.com/



http://ajourneywithtime.weebly.com/ | 2015

90 A mansiormer transforms -
CUETEAT fenguency
() current

?‘l - Diabetes in gmcral 1s the result of .
{A) under-secretion of mnsulin
(C) under-secretion of oestrogen

2 | River flowing towards the West is :
(A) Godavarn (B) Krishna

73. A tree 6 m tall casts a 4 m long shadow. &uvcmﬁm

shadow. Howlongisdwﬁagpoh?
100 m
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83,

hh‘pzx*th@ns,the mvsmmmedm, Arj'f‘ e o
. MW'P frcm station paint

: (C‘) be parallel

2

(B) converge

A} diverge from station point
: - (D} none of these

What is s the product of all the numbers in the dial of a telephane ? : i
(A) 158,480 {B) 159,450 16 150 (D) Hone o b

Dry density of soil is equal to the : i =
{A) Mass of solids to the volume of solids o
(B) Mass of solids to the total volurie of sojl SR PR
(C) Density of soil in the dried condition i
(D) None of the above : ‘_ e

ﬁrwnm»mmmumwwr

(%) EQDFYG () ESDFYF chnmm ™

mmwaammmﬁ
{A) mhmmw&nuﬂhawm
(B; mm&;mmmmm
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Fow warsistor action - i P
% (R} the collector must be heavily doped than thcgm’im regim\'v
(B} the collector base junction must be forward biased :
fC}  the base region must be narrow e AR
(D} the base region must be N-type material e AR

£z

z

91. ' The ability of a material to defarm without breaking is called :
(A} resitience {B) creep (€)  plasticity

92. 'An enterprising businessman earns an income of T 1 on the first duy
subsequent day, he earns an income which is just doubl
previous day. On the 10% day of business, his income is | ’

(A) 229 ®) 20 (€) T

93, 'l'hnexmbmdnwvtﬁasw S AN 5
(A) totality of species of a region (B} totality of ecosystem of
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o8 dr.m'ing shm should ham o i

. all alphabets i ap!lt]a: e S i
habets I smA etters e
:: : an only first alphabet in capml le!“tt:t, S
ina centence only abbreviations in capital le
100, A Pﬂe foundation 38 h::ed when | e mmm nw m m % |
, loads are heavy i i
:é; ::ﬁa {A) arfd {B) e B neither (A)mr ® e

101 T Binary Algebra; A+B can be imp!mn(;;d by Ao gl
, gtk
gg w@ﬁﬁ; , @ kW) and (B)

102, Whoacmdasﬁuemﬁmﬂmt
{A) Dr. B R Ambedkar
(‘C\ ‘Dr WM

.m; mmmdmm(uu
(M 901 m m,
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HB Tmand pmgresschan otawnstmcnon, malsoh'mmn‘ ' i
{:\ 1 - Bar chart (B} Camt :lurt
(C) Modified Milestone chart (DY All of the above

110. The frequency of emf generated bv a gtmmtm -depé_nds upon its ; :
(A) speed (B)  no. of poles :
(C) both (A} and (B) A (D) none of the above

111. Hydrophobia is a &-nmna of which disease ?
{A) Polio (B} Measles (C) Rnb)u

112, Reanmsmumofﬂ\topenumthtnudsmhMonnjab
m&hmu;mtbedwmmajebpﬂmmmmwmﬁmﬂ ‘
{A) drilling (B) tapping (Q

113 h\mvaddms,qwsm-dwbemﬁphu‘
(A} sparks <o (8
(C) mtrmdnﬂ
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122.

123.

*f’mumuuumudmm*

: 26
cnnvem assembly nguage to mi:hm W"ﬂ’ “__

compruber am that C
:\1 Tompnku P:f‘S’ (B) Inmterpreter xC) Assembler (D) e
| e & ‘eM Amd
The Tongest tape which can measure nactly lhe length of 8 m 25 cm, 6 m?’?
4m50cmis: . i i e
{A) 35em (B) 73¢m (€) Im530cm (D) i

h
A car covers three successive 4 ki distances at !Pt!ﬂ’ of 10 kah 20 kmph Md 60 kﬂ"?

respectively. Its average speed over total distance i8 ;- Ly ;1
(A) Wkmph () Wkmph (€} Bkmph (D) 30?“???

Which country is the winner of FIFA World Cupzm'ﬂm Men" ‘
(A} Germany (B) Spain (oF Argmﬁnl (D) Brluf

mmnumnptwndmmucw\pddthEDb‘
(A) Same {B} More _{Q'_,m L {m C‘ﬂ'

Internet. imatially started as -
tA) TCP/IP expermment
{B) Whhdmmdm
{C) Group of research scientists of Bell Lab :
{D) mmmhdéumm
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131 v'& wah.h wh»uttmasz“ﬁwhnmn&mghamma P
px) 835 {B) 9.35 s T 735

32 The bnse of a rectangular <olid 1s a square, and its heigh& 15 fwice its 1‘,_ g
1024 em?, then surface area of its snrhm is

(A} 560 cm? (B) 640 co? (C) 680 em?

133. Fluonde pollution mtrﬂ)' affects
(A} teeth {B) kidney (C) brafn

134. RAM is used as a short memory becayse it :
(A} 1 volatile (B) s very expensive |
(C} has small capacity (1) s programmable

135. Leaf spnngs are subjected to
{A) shear stress
(C) bending stress

136, Which of the following objects gives mw
mwammdhmmy;_
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